
Size 

The rose measures approx 7 cm (3”) across – not including the leaf. 

Materials 

25 meters from a 50g ball of DK (Light Worsted) knitting wool in Red 

2.5 meters of green for the leaf 

4 mm crochet hook ( UK/Aus/Canada 8/ US 6) 

Brooch back to make it into a brooch. 

Wool sewing needle. 
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The UK/Australia/Canada Version 

Abbreviations 

Ch—chain 

Tr—treble 

Sp—space 

Ss—slip stitch 

The Rose 

With 4 mm hook and red yarn make a length of 53 ch. 

1st row: (1tr, 2ch, 1tr) worked into 6th ch from hook, (the first 5ch count as 1 tr, 

2ch), * 2ch, miss next two foundation chain, (1tr, 2ch, 1tr) worked into 

next ch, repeat from * to end. ( 34 chain spaces) 

2nd row: 3 ch, (counts as 1st tr), 4tr into 1st 2 ch sp, ss in next 2 ch sp, (5tr in next 

2 ch sp, ss into next 2 ch sp) x 2, (6tr in next 2 ch sp, ss into next 2 ch 

sp) x 4, (8tr in next 2 ch sp, ss into next 2 ch sp) x 4, (12tr in next 2 ch 

sp, ss into next 2 ch sp) x 6. 

Fasten off and leave a long end (about 50 cm) for sewing. 

To Make Up 

Starting at the beginning of the 2nd row, roll the work so that it forms a rose shape. 

Arrange as required then sew into place on the base. Sew a brooch back onto the 

back of the rose. Sew in all ends. 

The Leaf 

With 4 mm hook and green yarn make a length of 9 ch. 

1st side of leaf: 1htr into 3rd ch from hook (1st 2 ch counts as 1st htr),1 tr in each of 

next 2 ch, 1 dtr in next ch, 1 tr in next ch, 1 htr in next ch, work 3 

dc into last ch, and turn work. 

2nd side of leaf: working along other side of the same length of ch work as follows; 1 

htr in next ch, 1 tr in next ch, 1 dtr in next ch, 1 tr in each of next 2 

ch, 1 htr in each of last 2 ch.  

Fasten off and leave a long end (about 30 cm) for sewing. 

To Attach 

Using the long end sew the leaf onto the back of the rose so that it just peeps out 

from behind the rose. Sew in all ends. 
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Htr—half treble 

Dtr—double treble 

Dc—double crochet 
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The US Version 

Abbreviations 

Ch—chain 

Ss—slip stitch 

Sc—single crochet 

Dc—double crochet 

The Rose 

With 4 mm hook and red yarn make a length of 53 ch. 

1st row: (1dc, 2ch, 1dc) worked into 6th ch from hook, (the first 5ch count as 1 dc, 

2ch), * 2ch, miss next two foundation chain, (1dc, 2ch, 1dc) worked into 

next ch, repeat from * to end. ( 34 chain spaces) 

2nd row: 3 ch, (counts as 1st dc), 4dc into 1st 2 ch sp, ss in next 2 ch sp, (5dc in 

next 2 ch sp, ss into next 2 ch sp) x 2, (6dc in next 2 ch sp, ss into next 2 

ch sp) x 4, (8dc in next 2 ch sp, ss into next 2 ch sp) x 4, (12dcin next 2 

ch sp, ss into next 2 ch sp) x 6. 

Fasten off and leave a long end (about 50 cm) for sewing. 

To Make Up 

Starting at the beginning of the 2nd row, roll the work so that it forms a rose shape. 

Arrange as required then sew into place on the base. Sew a brooch back onto the 

back of the rose. Sew in all ends. 

The Leaf 

With 4 mm hook and green yarn make a length of 9 ch. 

1st side of leaf: 1hdc into 3rd ch from hook (1st 2 ch counts as 1st hdc),1 dc in each of 

next 2 ch, 1 tr in next ch, 1 dc in next ch, 1 hdc in next ch, work 3 

sc into last ch, and turn work. 

2nd side of leaf: working along other side of the same length of ch work as follows; 1 

hdc in next ch, 1 dc in next ch, 1 tr in next ch, 1 dc in each of next 

2 ch, 1 hdc in each of last 2 ch.  

Fasten off and leave a long end (about 30 cm) for sewing. 

To Attach 

Using the long end sew the leaf onto the back of the rose so that it just peeps out 

from behind the rose. Sew in all ends. 

Hdc—half double crochet 

Tr—treble 

Sp—space 
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